
  

User:  jdmpx  |  Contact Us

Parts Catalog - Option Detail   

Electronic Parts Catalog - Option Detail

Option Group Graphic Film Card Date

FH9002 16.01 fh900gi T 15-MAY-91

Engines

4B3.9, 6A3.4, 6B5.9, B GAS INTERNATIONAL CM556, B4.5, B4.5 CM2350 B129B, B4.5 CM2350 B146C, B4.5
CM2350 B147B, B4.5 RGT, B4.5S, B5.9 G, B5.9 GAS PLUS CM556, B5.9 LPG, B5.9 LPG PLUS CM556, B6.7 CM2350
B121B, B6.7 CM2350 B135B, B6.7 CM2350 B136C, B6.7 CM2350 B148B, B6.7 G CMOH6.0 B125, B6.7N CM2380
B150B, B6.7S, F3.8 CM2350 F120B, F3.8 CM2350 F128C, F3.8 CM2350 F132B, F3.8 F102, G3.9, G5.9, G5.9
CM558, ISB (CHRYSLER), ISB CM2150, ISB CM2150 E, ISB CM550, ISB CM850, ISB/ISD4.5 CM2150
B119, ISB/ISD4.5 CM2150 SN, ISB/ISD6.7 CM2150 B120, ISB/ISD6.7 CM2150 SN, ISB/ISD6.7 CM2880 B126, ISB3.9
CM2220 B107, ISB4.5 CM2150, ISB5.9G CM2180, ISB6.7 2010 DCX PICKUP, ISB6.7 2013 DCX CHASSIS
CAB, ISB6.7 CM2150 SQ, ISB6.7 CM2250, ISB6.7 CM2350 B101, ISB6.7 CM2350 B103, ISB6.7 CM2350 B142, ISB6.7
CM2670 B153B, ISB6.7 G CM2180 B118, ISBE CM2150, ISBE CM800, ISBE2/ISBE3 CM850, ISBE4 CM850, ISD4.5
CM2150, ISD6.7 CM2880 D101, ISF2.8 CM2220, ISF2.8 CM2220 AN, ISF2.8 CM2220 EC, ISF2.8 CM2220
ECF2, ISF2.8 CM2220 F101, ISF2.8 CM2220 F117, ISF2.8 CM2220 F122, ISF2.8 CM2220 F126, ISF2.8 CM2220
F129, ISF2.8 CM2220 IAN, ISF3.8 CM2220, ISF3.8 CM2220 AN, ISF3.8 CM2220 F103, ISF3.8 CM2220 F110, ISF3.8
CM2220 F116, ISF3.8 CM2220 F134B, ISF3.8 CM2220 IAN, ISF3.8 CM2350 F109, ISF4.5 CM2220 F123, ISG11
CM2880 G106, ISG11 CM2880 G108, ISG12 CM2880 G107, ISG12 CM2880 G109, ISG12 G CMOH6.0 G111, QSB3.9
30 CM550, QSB3.9 CM2880 B138, QSB4.5 30 CM550, QSB4.5 CM2150 B108, QSB4.5 CM2250 B131, QSB4.5
CM2250 EC, QSB4.5 CM2350 B106, QSB4.5 CM2350 B122

https://qsservices.cummins.com/qshd/feedback.php?productid=1


SMALL | MEDIUM | LARGE
 

Cart Ref No Part Number Part Description Required Remarks

View My Cart

  FH9002 Flywheel Housing  Flywheel Housing...(More)

     Housing size/type; Sae

     #3 Housing material:

     Aluminum Clutch type:

     Dry Starter mounting pad

     Type; Sae #1 - 3 bolt 90

     deg. Quarant: 1 st

     Vertical dist. From

     crank C/L; 147.31mm

javascript:swap_img('fh900gi','/rtgraphics/english/parts/fh/9/fh900gi_sm.png');
javascript:swap_img('fh900gi','/rtgraphics/english/parts/fh/9/fh900gi_md.png');
javascript:swap_img('fh900gi','/rtgraphics/english/parts/fh/9/fh900gi_lg.png');


     Horizontal dist. From

     crank C/L 157.53mm Offse

     to rear from R.F.O.B.:

     0mm Starter pilot bore

     dia.: 88.9mm Engine

     mounting provision:

     Type: Pad Height to

     center of topmost hole:

     82.5mm Number of engine

     mounting holes: 12.

     Works w/air compressor

     rear plumbing: Yes

1 3903282 Flywheel Housing 1  

2 3902735 Self Tapping Metal Screw 2 M8 x 1.25 x 21

3 3920447 Hexagon Flange Head Cap Screw 8 M12 X 1.75 X 40.

4 3908095 Cover Plate 1  

 3909410 Rear Crank Seal Serv . Kit 1  

     Tools

5       3921265 Oil Seal 1  

6 3914386 Rear Cover Gasket 1 Purchase 3928493

7 3913638 Hexagon Flange Head Cap Screw 6 M6 X 1.00 X 16.

8 3910248 O-Ring Plug 1  

9 3912473 Rectangular Ring Seal 1  

10 3904181 Threaded Plug 1 3/4 - 16 UNF

11 3921043 Rear Cover 1  

12 3910260 O-Ring Seal 1  

 
© 2019 Cummins Inc., Box 3005, Columbus, IN 47202-3005 U.S.A. 

Terms of Use and Disclaimers  |  Recommended System Requirements 
Need Assistance? Please click on the Contact Us button in the top right corner of any page.

https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

